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Please make sure that the printed question paper are contains
32 questions.
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9 g7 frdy
The Code No. and Set on the right side of the question paper should be
written by the candidate on the front page of the answer-book.
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Before beginning to answer a question, its Serial Number must be written.
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Don’t leave blank page/pages in your answer-book.
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Except answer—book, no extra sheet will be given. Write to the point and do
not strike the written answer.
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Candidates must write their Roll Number on the question paper.
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° U FIT #F FGT 37 G g7 T’ %Tc??/%mwsfgvfaa@??m
IYUIT 37 T § 25 & arar :/37‘/%?776172?777

Before answering the questions, ensure that you have been supplied the
correct and complete question paper, no claim in this regard, will be
entertained after examination.

G (7397 -
General Instruction :

() @ JeT ST &

All questions are compulsory.

(i) STFTEHTFTI2 W7 ETFawae o § govedae @Be:
This question paper consists of 32 questions in all which are
divided into four Sections : A, B, Cand D :

G 9 59 G F 1 716 7% 7 16 F97 &, JE% F97 1 % &7 81
Section A : There are 16 questions from 1 to 16, each of 1 mark.

G § 39 % 417 @21 7% 37T 5 J97 &, J9% 5§97 3 3% % &/
Section B : There are 5 questions from 17 to 21, each of 3 marks.
€ T : 59 7T 422 § 27 7% FT 6 F97 &, JO9% F97 & 5% # &1
Section C : There are 6 questions from 22 to 27, each of 4 marks.
@€ T : 59 75 728 7 32 7% FA 5 J97 &, J9% FT 5 5% #H &l

Section D : There are 5 questions from 28 to 32, each of S marks.

(i) @€ T 7 & 797 F oran® [Qwey 9 T & F7F & G J97 @ g &
Section D contains two questions where internal choice have been
provided. You have to choose one of them.

gug -
SECTION - A
12 3T 20 % HCF 81X LCM & d%+ BT : 1
(A) HCF > LCM (B) HCF < LCM
(C) HCF = LCM (D) 38 9§ Fig 7

3503/(Set : A)



(3) 3503/(Set : A)
The relation between HCF and LCM of 12 and 20 will be :

(A) HCF > LCM (B) HCF < LCM
(C) HCF =LCM (D) None of these
2. I ¥ HH-91 9 (Polynomial) B ? 1
) —— B) Vx+2
x+1
(C) 2; D) x>+1
X +2x+7
Which one is polynomial ?
a) —— (B) x+2
x+1
1 3
Cc) ——— D) x°+1
x2 +2x+7
3. FHECT ax+by+c, =0 AR ayx+by+c, =0 F AR ﬂzgi;tﬂ, ar
a 2 €2
Frifatad & SH-a1 F s ? 1
(A) wfo=BT & &8 W@ (B) HUM W@N
(C) ¥HiGR @ (D) T € &5 7l
If in equations a;x+bjy+c; =0 and ayx+byy+cy =0, ﬂ:ﬁiﬂ’
ay by ¢

then which of the following is true ?
(A) Intersecting lines (B) Coincident lines

(C) Parallel lines (D) None of these

4. T q -4 A P. o0 B ? 1
(A) 2,4,8, 12, ... (B) 0.2,0.22,0.222; ....
(C) -10,-6,-2,2, ...... D) 1,3,9,27, ......
Which one is A. P. series ?
(A) 2,4,8,12, ... (B) 0.2,0.22,0.222; ....
(C) -10,-6,-2,2, ...... D) 1,3,9,27, ......
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5. A.P.10,7,4,...% 303 @ ? : 1
(A) 97 B) 77
© -77 (D) ¥ & & Tl
In an A. P. 10, 7, 4, ...., 30th term is :
(A) 97 (B) 77
(C) =77 (D) None of these

6. BT & A & § B9 I q9EY 7@ © ! 1

P

A
/\
"
B 80° 40C 0 80° 40°/ R
A

P
VAN A
B ¢ Q7 R
L D
M 2 P E F
5
M
P
(D) 2.5ﬁ 5 Sa
N - QPSR

Which one pair of the triangulars is not similar triangles ?

(A) P
VAN
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(B)

(€)

(D)

7. 2 THEY B & %Al H ST 5 : 3 8, O I WG SIS H SN ©
1
(A) 5:3 B) 25:9
(C) 9:25 (D) 5 :4/3
Area of two similar triangles are in the ratio of 5 : 3, then the ratio of their
corresponding sides is :

(A) S5:3 (B) 25:9
(C) 9:25 (D) /5 :4/3

8. gq & e} R el g & g0 W el 8wt 3@l & qe § 1
(A) 1 (B) 2
€ O (D) 4

Number of tangents drawn from a point outside the circle are :
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(A) 1 (B) 2
€ 0 (D) 4
9. Rad WM «X : 1
TH T B eevreennnnn iy et @ & w8
Fill in the blank :
A circle can have ........... parallel tangents at the most.
10. fg P(6, - 4) T agata 7 Rea B 7 1
(A) &H B) fai
(€ T (D) =gd
Point P(6, — 4) lies in which quadrant ?
(A) First (B) Second
(C) Third (D) Fourth

11. gl (-1, 7) R (4, -3) & AN A YOrEs & A g & Féeis € ¢ 1
W (3] w39

3 3
@ (32 o [23)

Coordinate of mid point of line joining two points (-1, 7) and (4, —3) are
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@ [3-2) o 23

12. SR fh 9 B @ R @ o 1
“fpet ot T 0 % fo cos@z%”
State whether the following statement is true or false :

"cos 0O = g for some angle 6"

13. TRC % M= # @9 © O o7 1
“sin 6 = cos 6 @ 6 % WHI W”
State whether the following statement is true or false :

"sin @ = cos 0 for all values of 6"

14. B RAW 990 & S BEUEs & 8% STHE $I9T 6° &, B0

@A) - xorR B) —L xxRr?
180 180

© - xonr D) -2 xzR?
360 360

Area of a sector of angle 0° of a circle with radius R will be :

@A) -2 xonR B) -2 xzR?
180 180

© -2 xoxr D) -2 xxr?
360 360

15. T 9 & oTEN & Bl 4 § 3R S 3 O &, O S o =6 BrT ¢
=7
T=—| 1
7
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(A) 20§ (B) 20

(C) 30m T (D) T8 9§ Pz 7l
The radius of the base of a cone is 4 cm and the height is 3 cm. Its
CSA is (n = §j :

7

(A) 20 cm? (B) 207 cm?
(C) 30m cm’ (D) None of these
16. T H TH SN b TN, HCAT 8 ST i Wiehal arf :1
w1 o @0 © ¢ D,
Probability of getting 8 in a single throw of a die is :
w1 ®o  © ¢ D,
gue - §
SECTION - B
17. R AT & V5 T FuRAY de B 3

Prove that \/g is an irrational number.

18. Q%E&HWWWWQW%WWWW%%@TA%
3

Find a quadratic polynomial with the given number as the sum and

product of its zeroes respectively are %and -1.
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19.

20.

21.

22.

(9) 3503/(Set : A)
90 Tl # TR ATl U ded 9cd @ Th X & ofgR § | 1.2 H/H ol I
q T W2 AR g g § 3.6 W H HIR W T, O 4 TF°S € 39 A H
BT % TG S BT 3

A girl of height 90 cm is walking away from the base of a lamp-post at a
speed of 1.2 m/s. If the lamp is 3.6 m above the ground, find the length
of her shadow after 4 seconds.

qE A, BIR CBYT ABC® sia= &, @i faamsy @ :

. (B+Cj A
sin| = cos —
2 2

If A, Band C are interior angles of a triangle ABC, then show that :
. (B + Cj A
sin > )~ COoSs —

2

T% qOER @ W 25 o Ui Hex & & § I8 T & @ 5,275 Fo g, al
Gd & A9 T 3

The cost of fencing a circular field at the rate of Rs. 25 per meter is, Rs.
5,275. Find the diameter of the field.

gug - g
SECTION - C

frfaRaa gt @ & ST : 4
0.2x+0.3y=1.3

0.4x+ 0.5y = 2.3

Solve the following equations :
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23.

24.

25.

26.

27.

28.

(10) 3503/(Set : A)
0.2x+ 0.3y = 1.3

0.4x+ 0.5y = 2.3

& HAN EAIHh Ok S hifoie o it &1 4N 365 Bl 4

Find two consecutive positive integers, sum of whose squares is 365.

AN ol arll fohae g=md 7 | faury 2 ° 4

How many three digit numbers are divisible by 7 ?

s #ifT 6 & b= gai § 98 g9 & Siar St Bl g9 B Wt Hl §, W
fig W wHfEwIG Bt Bl 4

Prove that in two concentric circles, the chord of the larger circle, which
touches the smaller circle, is bisected at that point of contact.

T F 52 T H T TE d Bl T TH TeS § § TH Gl Mol Sl §l
TN & @A T B Bl bl S HIoT| 4

One card is drawn from a well-shuffled deck of 52 cards. Find the
probability of getting a king of red colour.

k@AM 79 Hiw, AR &g A2, 3), B4, kAR C6, -3) W& d 4
Find the value of k if the points A(2, 3), B4, k) and C(6, —-3) are
collinear.
gug - §
SECTION-D

N T UHl AR AW % SR a9 6§99 & S o=, Ges 8 g 8
3 SHH &5 800 {2 &, & STl =g X AeE g Hew 5
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30.

31.
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Is it possible to design a rectangular mango grove whose length is twice
its breadth and area is 800 m?? If so, find its length and breadth.

A sec?0—tan? 0 =1 & YA F, Hx BT & ¢ 5

sin@+cos6-1 1
sin®—cosO+1 secH+tand

sin@+cos®-1 _ 1
sin®—cos0+1 secH+tand’
sec20—tan26:1.

Prove that

using the identity

AYqT
OR

1.2 #f e T T g @ 88.2 W & HaAE W UH Aol @ § g A I$ @
TER & 3G ol fBE f & dsd H g d [ER F IE BT 60° F ol
B G 918 I HOT HTHT 30° B S 8 3@ FO & AR [ER &R T
P TS g A i

A 1.2 m tall girl spots a balloon moving with the wind in a horizontal
line at a height of 88.2 m from the ground. The angle of elevation of the
balloon from the eyes of the girl at any instant is 60°. After some time,
the angle of elevation reduces to 30°. Find the distance travelled by the
balloon during the interval.

7.6 Gl ST T (@ES G AR 3/ 5 : 8 U H i i aAF W &
AT R T @ i @ AT 5

Draw a line segment of length 7.6 cm and divide it in the ratio 5 : 8.
Measure the two parts. Give the justification of the construction also.

foqrett 5.5 99t X 10 99t X 3.5 QU 91T Uk &9 9N & [T 1.75 991 A9
AR 2 fopft Ao a fohew =1dl & el & MEAT @M ? 5
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How many silver coins 1.75 cm in diameter and of thickness 2 mm must
be melted to form a cuboid of dimensions 5.5 cm X 10 cm X 3.5 cm ?

Pl @@ & B X @ 51 TEfRA B Hamdl B TH GAEO R T AR
Frfaraa offds <t e T 5

Sarg (3 #) | 140 ¥ 145 @150 & 155 || 160 &|165 A
FH | BH | BH | BH | FH | BA

iRl @ gE| 4 11 | 29 | 40 | 46 | 51

g HaS S DI

A survey regarding the heights (in cm) of 51 girls of class X of a school

was conducted and the following data was :

Obtained height | Less Less Less Less Less Less

(in cm) than140|than145|than150than155than160than165

Number of girls 4 11 29 40 46 51

Find the median height.

HAYqT
OR

=i Al feel Aieed & 25 IRAT & Ao W gY oM@ &g H a9 o

% @™ (89 )| 100-150|150-200[200-250(250-300/300-350

qRaRi & e 4 5 12 2 2
Suga fafy g1 AISH W geT A Fg S i

The table below shows daily expenditure on food of 25 households in a
locality :
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Daily Expenditure (in Rs.)|100-150|150-200200-250|250-300|300-350

No. of households 4 ) 12 2 2

Find the mean daily expenditure on food by suitable method.
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